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Tlns test includes twe parts with 10 mnlt:Iplcnchnlm questions in each part, You only m!ed 1o write

_ down the correct angwer and nzed not give explanation.

Part [ {Each question has only one correct answer and accounts for 5 points)

t. The income’ effect of an increase in the price of a goad will usually he the is the
income elasticity of deynand.  a. mare negative; smafler . larger; larper ¢ smaller; larger

d. larger; smaller e larger; more negative

2. Fran buys only CDs and candy bars. The ponciple of diminishing marginal rate of substitation

mieans that, along one of Frn'’s indifference curvas, a8 she increasas ber consumaption of CDs:

a. Her voluation of s extra CD, measured io candy bars, falls. b, Her valuation of an extra candy bar,

measured in candy bars, falls,  c. Her valuatiop of an extra CD, measured in candy bars, rises.

d. The oumber of candy bars she rust give up to buy another CD falls.  c. The amnber of CDs she

Toust give up to ngy anuther candy bar falls.

A.If the cost of a figed-mgut incraases:  a. The average cost and marginal cost curves both shift

downward. b, The marginal cost curve shifts upward, but the average cost curve is unchanged.

c. Neither the a;.rzragt cost ourve nor the marginal cost curve {s affecied.  d. The avormge cost cirve
skifts upwward, but the marginal cost cuive is unchanged. ¢ The avernge cost apd marginal cost

carves both shift upward
4. At low iovels of production, average cost fells with output as the s divided among tote wnits
ofmtput,bn“éproduntiqnhcum avetage cost begins to rise as the ____ comts ta domikate the
effect of the - average variable cost; fixed cost; overhead cost  b. average vari.able cost;

fixed oost; averags variable cost . fixed cosy; overhead cost; fixed coxt 4. fixed cost; a‘;mgc
variable cont; fixed cost . marginal cost; average variable cost; marginal cost

5. When some of a profit-maximizing firm's costs &re surk costs, the firm will leave a competidve
market if*  a. Marginal revenoe exceeds marker price. b, Toml variahle cosl rises above 1otal revesue,
¢. Average revenue exceeds market price.  d. Minimmum averags cost is less than market price.

., The tota) of fixed and variable costis less than toral revenue.

. Let P denote price, MR denate margimal revenue, and MC denote marginal cost. A perfectty
competitive firm sets o maximize profit For s perdectly competitive firm, it is always the cass
thar . Asaresuls, the perfectly competitive firm maximizes orofit where

2. MR>MC; MR<P; MC<P. h. MR=MC; MR=F; MC=P. ¢. MR=MC; MR<P; MC<P,

d. MRAMC; MR=F; MC<P. & MR<MC; MR>P; MC>P.

7. At iispmﬁtmdximum, the mocopolist will set & price that is grenter then marginal cost. The
difference between price snd the monopolist's marginal cost will be smaller, the:

a. Smaller is the price clasticity of demand. b, Larger is the price elasticity of demand.

¢. Smaller is the response ﬁ'm:ms competitors.  d. Larger is the price elasﬂmy of supply. e. Smaller
is the price uiashmty af Hupp]y .

" 8 T the kinked demznd curve tode], demand: 2. Is less prioe-elastic for price increases than for
price decreases. b, Is more price-inelastic for price increases than for price decrsagss, . Is more
price-¢lagtic for price incrcases than for price decreases.  d. Is more price-elastic for price decreases
than for price imcreanes. o, Will be price-inelastic at high prices and price-clastic et low prices.

4. In & monepeeny, the margmal cost of the input:  a. Bxceeds its price and more of the inpur is kired
than in a comppetitive market. - b, Islssaihﬂniispriumdnmrenfﬂtch:pm{ahimdmma
corppetitive market.  ¢. Equals its price and the same amomt of the iopot i2 hired a$ in a conrpetitve
tarket. 4. Is lexs than its price and 125y of the input is hired than in a competitive market.

e. Exceeds ifa price and less of the mput is hired than in a competitive mericst.

1. If a regulatory body required a netaral monopaoly to charge the sconomically efficient price, price
would equal ____ and the finn would make . a marginal cost; 2 loss b, avemage cost; zen
profit c. margingl cost; zero profit & average cost; a positive profit ¢ marginal cost; a positive

profit
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Part II (Bach question has enly one correct answer and accounts for 5 points)

1. For a small open economy with perfect capital mebility, which of the following policy can {ucrease
a highest income level in the short Tun? (A} an increase in money supply in 8 fixed exchange rawe
system (B) an increase in povernment parchase in a foating exchange rats systema () 3 Jecrease
in imports in a floating exchange rate system (D} a decreass in income tax in 4 fived exchange rate
systeir: (B} aome of the sbove,

2, Continuing with question 1, the event of the cortoet answer in quoytion 1 can increase the mcome
lewel hecanse it casults in an incmease in {A} consumption (B} iovestment (C) government purchase
{I)) net export {E) all of the ahove.

3. Continuing with question 1, which of the following policies will result in an increase in money
supply in the end? (A) an increase in money supply in a Iixed exchinge rte system (B) an increase
in gnvmrﬁcm purchase {n a floating exchange rate system () 4 decrease in impotts in a floating
cxchange rate syetem (D) a decrense in income tax in a fixed exchange rate system (E) none of the
above, ,___.—-—;

4, Which of the follt:;wing conditions may lead to speculative attacks in the foreign exchange market
except {A) adopting a fixed exchange rate (B} the domestic currency is overvalued {C) adopting a
contracHomary mnmtary policy (D) The market equilibrivmn interest tate is very low.

5. The introduction of individual retirement aceounis in a closed economy miises the after-tax interest
rate ﬁn saving for r:tm:mmt The aubstitution eifect of this change is [A) an ipcrsass in saving,
which reinforces the insome offect. (B) 2n ingrease in saving, but the income effect is a reduction
in saving. {C) a reduction in z;:aving, which reinforce the income sffect. (I a reduction in saving,
bt the ingome :ﬁ’ﬂ:f i an incrense in saving, (B} ap incresse in saving, with no offseting income
effect. _

6.  Which of the following statements ragarding the Selow growth model is not corect if the initial
capital labor ratio is lower than the gdlden tule level? (A) an increase in the saving rate will
initially increzse consumplion. (B) an merease in the saving rate will initatly increase imvestment
(C) an increase in the saving rate will inidally increase the output. (IY) None is incorrect.

7. Ifthe economy has a downwardly rigid wage and excess capacity, an increase in capaciry shifts (A)
the nggregate supply curve rightward, but has no effect oa the price level (B) the aggregate supply
carve ghtward, and lowers the prics level {C) neather agpragate supply nor aggragats damand
with the resuit that the price leve! is unaffected (D) the aggregate demand curve rightward, and
raises the price level (E)} the aggregate demand curve rightward, but has no effect on the price
lewsl, .

£, When the ceniral bank increases the money supply, the interest rate cventually incseases without

. deeregeing in the beginning. Thia sittation indicates most likely that {A) the liquidity prefersnce
effect is dorninated by the income effect (B) the liquidity preference sffect is dominated by the
expectad-inflation affect {C) the liquidity effect is daminatad by the price-level effsct (D) the
cxpected-inflation eif:n:t eppm very fast {E) All are correct.

9. ‘Which of the following events will result in an increase in real money demand (A} an increase in
the price ievel (B) an increass in the nominal interest rate (C) an inerease in the expocted inflation
rate (D) an increase in the mimbher of the ATW machines.

10. Tfthe GDF end GNF of Teiwan s initially the same, then which of the following event will resalt
in & Jarger GDP than GNFP? (A) many professons who used ta teach af the USA returned to Taiwan
{B) Many Teiwanese companies invest in the Mainhland China (C) IBM increases i purchases
from the Tarwznese cormpuler companics (D) Teiwanese banks lend capital to foreign cormpamizs
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